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MAT 1340

“
#s 1 - Find all real (or imaginary) solutions of the following quadratic equations using the quadratic formula. Be sure to

compute the discriminant, first, and separately. I'm looking for that on tests, as well, whenever you face a quadratic
expression. It modularizes the work, and it tells you what you're getting into.
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3. 25x’ —20x+7=0 (Give an exact answer, in simplified radical form.
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#s 5, 6 Solve the following by factoring. You may use a sledgehammer, if you wish, but write the polynomial in factore:
form, after you find the solutions, to show you understand the connection between factors and solutions, frontwards and
backwards! Give answers as integers or fractions, in lowest terms.
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This page is a bit cramped, above.
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The "Price Is Right!" method for factoring quadratic expressions whose
discriminants are perfect squares (so they factor over the Rational Number).
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#s 7 — 10 Solve the following by completing the square. Do not use decimals; rather, use fractions, as needed, to
2

7
complete the square. For example, use (E] , instead of (3_5 )2 for #7.
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9. Sx*+6x+23=0
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